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Solutions to Example 1:
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Solutions to Example 2:
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Note: The question asks for the height at the time of diving. We don’t know the height, but we do know the time at which Ana dives (time = 0 seconds). Plug zero into the function: h(0).


· Example 3
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Solutions to Example 3:
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3/3  Inconclusion, these are the app prices that will result in $0 annual profit:
Lower price: 3 dollars

Higher price: 11 dollars.




image1.png
Ricardo throws a stone off a bridge into a river below.

The stone's height (in meters above the water), & seconds after Ricardo threw it, is modeled by

2) = —5(z — 8)( + 4)
'How many seconds after being thrown will the stone reach its maximum height?

seconds
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1/4  The stone’s height is modeled by a quadratic function, whose graph is a parabola.
‘The maximum height is reached at the vertex.
So in order to find when that happens, we need to find the vertex's 2-coordinate.

2/4  Thevertex's z-coordinate is the average of the two zeros, so let's find those first.

3/4

z—-8=0o0rz+4=0

r=8orz=

Now let's take the zeros' average:

®+(-4) _4

2 2 2

4/4 | In conclusion, the stone will reach its maximum height after 2 seconds.
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Ana dives into a pool off of a springboard high dive.

Her height (in meters above the water), 2 seconds after d

hiz) = =5(z +1)(z — 3)

What is the height of Ana above the water at the time of diving?

meters
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1/3  Ana's height at the time of diving is given by h(0).

2/3  h(0) =-5(0+1)(0-3)

5(1)(-3)

=15

3/3 | In conclusion, Ana's height at the time of diving is 15 meters.
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A certain company’s main source of income is a mobile app.
The company's annual profit (in millions of dollars) as a function of the app's price (in dollars) is modeled by
P(z) = —2(z - 3)(z - 11)

Which app prices will result in $0 annual profit?
Enter the lower price first.

Lower price: dollars

Higher price: dollars




